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AXTAERIFRE TER rstatix B#ITEEIRITAES (mixed design ANOVA) HIEZAT
o

EEEEN ﬁ%
ERBIKITHAERF, EEaREEAFTE, —XE2HRXENETFTE, F—EXEHXNIETF

TE, MRE—IHRENEFEZEN—MEARNNEFEE, BAFFAINERESKITHESD
Mo BERITAEDTERTFIREENXTEEIRXIE (Randomized Controlled Trial, RCT) %R,

=, EfIRE

HXEERARE datarium BER] anxiety #iEE, ZIEEEE ZHARAE=TIERRVERE
7, HPAFRHKAEEFEE, X FRNEERERE, HERERIINEFEE.

> ## Load packages

\%

library(rstatix)
> library(ggplot2)

> ## Load data

> data("anxiety", package = "datarium")

> str(anxiety)

tibble [45 x 5] (S3: tbl_df/tbl/data.frame)

$ id : Factor w/ 45 levels "1","2","3","4",..: 123456789 10 ...
$ group: Factor w/ 3 levels "grpi","grp2",..: 11 11111111...

S t1 : num [1:45] 14.1 14.5 15.7 16 16.5 16.9 17 17 17.3 17.3 ...

S t2 :num [1:45] 14.4 14.6 15.2 15.5 15.8 16.5 16.8 17.1 16.9 17.1 ..

$ t3 :num [1:45] 14.1 14.3 14.9 15.3 15.7 16.2 16.5 16.6 16.5 16.7 ..

MLEEAUAEER, AR ERBERESBREFRNGIF, XM NEREYE (wide format) ,
FERMAKEEYE (ong format) , BIA—FIREXTRHEIR, Z5—FIREREED .


mailto:free_learner@163.com
https://alexbrain.cn/

> ## convert data from wide to long format

> anxiety_long <- gather(anxiety, key = "time", value = "score", t1, t2, t3, factor_key=TRUE)
> str(anxiety_long)
tibble [135 x 4] (S3: tbl_df/tbl/data.frame)

$ id : Factor w/ 45 levels "1","2","3","4",..: 123456789 10 ...

$ group: Factor w/ 3 levels "grpi1","grp2",..:1111111111...

S time : Factor w/ 3 levels "t1","t2","t3": 1111111111...

$ score: num [1:135] 14.1 14.5 15.7 16 16.5 16.9 17 17 17.3 17.3 ...

IR — T RB AR, BT ERESANOVAD ISR,

> ggplot(anxiety_long, aes(x=time, y=score, color=group, group=group))+
+  stat_summary(fun = mean, geom = "line")+

+ stat_summary(fun = mean, geom = "point")
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fEF rstatix B1AY anova_test EREHITANOVAIRLE, FEXBRIMIXEIE R FENLITEEE, B
EXNTFEFEHIERIFIER, get_anova_table REEMINBE R TN EK RIS
(Mauchly’s test of sphericity) BI45R#1TGreenhouse-GeisserfkiE,




> ## ANOVA test

> anova_dat <- anova_test(score ~ group*time + Error(id/time), data = anxiety_long
> get_anova_table(anova_dat

ANOVA Table (type II tests

Effect DFn DFd F p p<.05 ges
1 group 2 42 4.352 1.90e-02 * 0.168
2 time 2 84 394.909 1.91e-43 * 0.179
3 group:time 4 84 110.188 1.38e-32 * 0.108

. SRR

M _EEANOVAIGIGMIZER AT LIB R, group M time FEEEMREIER, BNBTEIFZERE
AR PEAFER, NEAFOVNERBNER ERRER, N TERIEER, EFBHITER
MM, BIERENER LSRR AREARNNES, NETEAREF 3R REE R
NES.

> ## simple effect analysis

> anxiety_long %>%

+ group_by(group) %>%

+  pairwise_t_test

+ score ~ time, paired = TRUE

+ p.adjust.method = "bonferroni"

# A tibble: 9 x 11

group .y. groupl group2 nl n2 statistic df p p.adj p.adj.signif

* <fct> <chr> <chr> <chr> <int> <int> <dbl> <dbl> <dbl> <dbl> <chr>
1 grpl score t1 t2 15 15 2.01 14 6.5 e- 2 1.9%4e- 1 ns

2 grpl score t1 t3 15 15 4.38 14 6.3 e- 42 e- 3 **

3 grpl score t2 t3 15 15 3.77 14 2 e- 36 e- 3 **

4 grp2 score ti1 t2 15 15 1.82 14 9 e- 2 2.68e- 1 ns

5 grp2 score t1 t3 15 15 10.5 14 5.02e- 8 1.51e- 7 ##*%%
6 grp2 score t2 t3 15 15 11.3 14 2.04e- 8 6.12e- 8 ##*=**
7 grp3 score t1 t2 15 15 19.1 14 1.99e-11 5.97e-11 ****
8 grp3 score ti1 t3 15 15 27.1 14 1.72e-13 5.16e-13 ****
9 grp3 score t2 t3 15 15 14.8 14 5.93e-10 1.78e- 9 *#*#**
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anxiety_long %>%
group_by(time) %>%

pairwise_t_test

score ~ group

p.adjust.method = "bonferroni'

A tibble: 9 x 10
time .y. groupl group2 nl n2
<fct> <chr> <chr> <chr> <int> <int>

t1 score grpl grp2 15 15 0.43

t1 score grpl grp3 15 15 0.895

t1 score grp2 grp3 15 15 0.51

t2 score grpl grp2 15 15 0.435

t2 score grpl grp3 15 15 0.00212

t2 score grp2 grp3 15 15 0.0169

t3 score grpl grp2 15 15 0.0937

t3 score grpl grp3 15 15 0.00000638
t3 score grp2 grp3 15 15 0.00132
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## post-hoc tests

anxiety_long %>%

pairwise_t_test
score ~ time, paired = TRUE

p.adjust.method = "bonferroni"

ns
ns
ns
ns

*%
*

ns
*%

*%

p p.signif
<dbl> <chr>

**

p.adj p.adj.signif
<dbl> <chr>

.00636
.0507
.281

ns
ns
ns
ns
*%
ns

ns

.0000191 ****

.00396

p.adj p.adj.signif

A tibble: 3 x 10

.y. groupl group2 nl n2 statistic df p

<chr> <chr> <chr> <int> <int> <dbl> <dbl> <dbl> <dbl>
score ti1 t2 45 45 5.55 44 1.56e- 6 4.68e- 6
score t1 t3 45 45 8.58 44 6.11e-11 1.83e-10

score t2 t3 45 45 11.1

44 2.3 e-14 6.9 e-14
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anxiety_long %>%

+  pairwise_t_test
+ score ~ group
+ p.adjust.method = "bonferroni"
# A tibble: 3 x 9

Y. groupl group2 nl n2 p
* <chr> <chr> <chr> <int> <int> <dbl>
1 score grpl grp2 45 45 0.094
2 score grpl grp3 45 45 0.0000199
3 score grp2 grp3 45 45 0.00701

p.signif p.adj p.adj.signif
<chr> <dbl> <chr>

ns 0.282 ns

BIRIRIES 0.0000597 ****

oS 0.021 &



